
 1321 

 1
99

7 

 1100 

 111  111 

Window Frame Window Frame 
with Brackets

3

B

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:5
18-2-2020

SD191173

191173-1-000 1 A0:4

Nat. Ano
Nat. Ano
Light Grey

MATERIAL

96ESTATE Waiting for Approval
B

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION



 1
81

5 
O

S 

 1
98

0 
RA

 

 1100 

Top louver fixed

 2
5 

 9
0 

 167 

2
4

4
4

8
1

11
4

5
4

3
4

1
2

7
1

10
42

6
22

59
2,

5
Pu

sh
 P

in

 4
10

 

 1075 Drive Shaft 

9
2

3

ITEM NO. QTY. SW-File Name(File 
Name) DESCRIPTION Comment 2

1 2 191173-0-100 Heavy Duty Rack Arm, 35 mm, 
Assembled; Pitch 90 (25) L=1980

2 4 911 DIN 6798-A Lock washer M6

3 4 910 DIN 934 Hexagon Nut M6

4 4 908 DIN 125-1A Plain Washer M6

5 4 901 DIN 933 Hexagon Head Bolt M6x16

6 22 191173-1-401 96E Louver L=1301

7 1 191173-1-501 Drive Shaft L=1075

8 1 191173-1-810 Handle 6:1 

9 2 939 DIN 7981 Panhead screw 3,5 x 
9,5

10 42 939 DIN 7981 Panhead screw 3,5 x 13

11 4 58 710 Angle bracket 50x30x3 mm, 
lg=30mm (part only) L=30

B

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:5
18-2-2020

SD191173

191173-1-000 2 A0:4

Nat. Ano
Nat. Ano
Light Grey

MATERIAL

96ESTATE Waiting for Approval
B

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION



47
7

Ha
nd

le

 10  1301  10 

 8
 

19
85

A
re

a 
co

ve
re

d
 b

y 
lo

uv
er

s
 4

 

 1100 Rack Arm Pitch 

Top louver fixed

 134 

 167 

 4
27

 

 179 

 80 

3

B

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:5
18-2-2020

SD191173

191173-1-000 3 A0:4

Nat. Ano
Nat. Ano
Light Grey

MATERIAL

96ESTATE Waiting for Approval
B

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION



 1301 Louver 

3

B

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:5
18-2-2020

SD191173

191173-1-000 4 A0:4

Nat. Ano
Nat. Ano
Light Grey

MATERIAL

96ESTATE Waiting for Approval
B

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION


	Window Frame
	Drawing View1
	Drawing View3
	Drawing View11

	Rack Arms
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10

	System
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View22

	Louvers
	Drawing View17
	Drawing View18
	Drawing View19


